BRHEHREOMSTERERRE GHHEL+1—L4) 11
REHRE : SM3E7TA1HBR)~SHM3E7TA3 0H(R) (B3I = \“9blb/kg)
5218 — = - ®&EH . BRERRESE
=o A3l mA RENHE 78) 9945134+137 (994134+137)
1 B THIX ZLTHEHAEESE | THOK) T 11.4
2 B THIA BUTENEE [12H(A) TR 10.2
3 B Hh7 UM HmArTE | 2H(E) TR 9.2
4 B3 ARF ¥ BE)h 2TH(X) TR 8.0
5 3 FrAY 2B LI i R HRHET 6H (X) THH 10.3
6 B3 FrRY BUTENEE | 5HA) TR 116
7 B 19U EILT AR [30H(H) FRH 8.0
8 B3 Fa1oU BUTENEE | 5HA) TR 15.0
9 B3 19U AE)H TH(X) FRH 13.2
10 B3 19U BE)h 21H0K) TR 115
11 B AR AE)h TH(X) FRH 11.7
12 3 I HLE ZB L T R#R AT 8H () TR 9.8
13 B3 SvALE | UmmAMETEL | 7THK) FRH 6.4
14 Fx JvH1E AEIT 218 (k) THH 7.6
15 Fx AyF—= ZB L T f% BT 2H (&) TR 13.7
16 B AyF—= AEIT 1H(XK) THH 10.0
17 X FIYRF EBILTTEAETEREL [ 7THOK) TR 13.4
18 3 ~Yk EB L T R#R AT 30H (&) TR 10.4
19 Fx Yk AUTHMNEEE [ 5H(A) TR 9.4
20 B3 FX K BE)h 2TH(X) TR 113
21 B ¥ FB LU T K HR AT 158 (K) TR 11.9
22 B3 i BE)h 296 () TR 12.0
23 X E—~xv AB)M 29H (R) TR 17.2
24 B3 SRR LT AKE [ 15HCK) TR 13.1
25 Fx ==ZkVh B LA RET | 20HCN) TR 14.2
26 |IUE - = H| NITIXD B 88 () TR 12.7
21 [ IL% - 20 fE| ~XFv3d  |smum=mamrsE| 195(8) T 16.5
78 FT.oE2ofE IXFVd WEEERE BAT 168 (&) 50.1 13.1
29 R=E B (51iE) ZB LT AT 6H (N) TR 11.8
30 = g (518) AT HEMNETEL | 7THOK) TR 16
31 DM BA EILTSERIIRE | 2H(R) 17.2 6.7
32 Z Dth g (1RA) WEEER = [ BT 2H(£) 10.9 7.4

X BRHRFEREE “TRE” &R

ShEEMR BT



